Ph¥oFI5

REERR

A10221 | Exoozma 1t

L
e i
SGPERANDKREXT/N> K, 5
@ mAZ > JIFREBICE)FT, &
@ BREMR D - Xt U, =
mBEI—F A10221 ExdHoEmRIH B (nm)
PA4X | & B | BUR | BEE t | ¢ #Ef AR I b D | H BURILN A #
a—K | (A) (B) SE BxXRX # (1)
0010 158 | 1 217 | 1.8 25 | M6x25 | 26 | 65| W%
0024 20A | % 272 | 1.8 25 | M 6X25 | 26 | 68| W%
0039 25A 1 340 [ 18|25 | M6X25 | 26 | 71| W%
0043 2A | 1Y 427 |18 25 | M6x25 | 26 | 76| W%
0058 40A | 1% 486 |18 25 | M6x25 | 26 | 79| W%
0062 50A 2 60.5 | 1.8 25 | M 8X25 | 26 | 84| W%
0077 65A | 2% 763 | 23|25 | M8x25 | 26 | 92| W%
0081 80A 3 89.1 | 23|25 | M8x25 | 26 | 98| W%
0096 | 100A 4 1143 | 23|25 | M 8x25 | 26 [ 111 | W%
0109 | 125A 5 139.8 32| 32 | M10x30 | 36 |145| Wl
0113 | 150A 6 1652 |32 | 32 | M12x45 | 36 | 157 | W

A10141 [ BB 2V EL

SGPEAMHERM/N> K,
@250ALI EIF ) TDENFEREIE L) ET,
QOETED - T L,
mEI—F A10141 #XAB5EL B3 (mm)
YA X 7 R | e amps #ARIL B A #
0017 15A Vs 21.7 1.2 25 M 6Xx20 27 6 220
0021 20A % 271.2 1.2 25 M 6Xx20 27 6 200
0036 25A 1 34.0 1.2 | 25 M 6X20 27 6 230
0055 32A 1% 42.7 2.0 25 M 6X20 27 6 170
0060 40A 1% 48.6 2.0 25 M 6X20 27 6 150
0074 50A 2 60.5 2.0 25 M 6Xx20 27 6 100
0089 65A 2% 76.3 26 | 32 M 8X25 32 6 75
0093 80A 3 89.1 26 | 32 M 8X25 32 6 65
0106 90A 3% 101.6 26 | 32 M 8X25 32 6 50
0125 100A 4 114.3 2.6 32 M 8X25 32 6 50
0130 125A 5) 139.8 26 | 38 M10x30 32 8 32
0144 150A 6 165.2 32 | 50 M12 X 45 40 8 15
0159 200A 8 216.3 3.2 | 50 M12 X 45 40 8 10
o - 0163 250A 10 267.4 | 45 | 50 | M12x45 | 55 | 10 18
1) ERAC L ERES 0178 300A 12 3185 | 45 | 50 | M12x45 | 55 | 10 15
V| RuBBALEETO
: TR LA, 0182 350A 14 355.6 6.0 | 50 | M16x50 | 60 12 10
LEn 0197 400A 16 4064 | 60 | 50 | M16x50 | 65 | 12 8

0 2L




